th EE R 1074

[
= % & B
= 5 |l | BRL S e wE w[E @lE w "t
R | B | TF s ol 4|4 4| v ] ERE
S P 4 < L a4 363,78 4,264 41,993 8,991 0 0 30,706
ESE=-30WN 292,272 447 33,302 0 0 0 23,051
ERXAE 292,272 447 33,302 0 0 0 23,051
= 334 0 0 0 0 0
e 292,27 113 33,302 0 0 0 23,051
B 0 0 0 0 0
HEEAE 0 0 0 0 0
Eg=| 0 0 0 0 0
T R KB 71,51 3,651 8,691 8,991 0 0 7,655
ERXAE 71,51 3,651 8,691 8,991 0 0 7,655
= 57,218 2,448 6.885 6,741 0 0 5,496
TE 14,292 1,203 1,806 2,250 0 0 2,159
EEAR 0 0 0 0 0
= 0 0 0 0 0
L S 2 P 166 0 0 0 0 0
ERXAE 164 0 0 0 0 0
TE 164 0 0 0 0 0
& =t 363,78 4,264 41,993 8,991 0 0 30,706
Al =t 363,78 4,264 41,993 8,991 0 0 30,706
g%rfﬁiﬁ%@gﬁé%WO
— ~ TRT 107 FEARMMEAEM LS8 A - (% H [0 M E 2 HIIMEARIEBER LS8 -
= BIABEGARSS,098 4TI o AUFE

(—)FELHES  REABAEFER TIERS RE N SBETREE > FY 208 THE&HEE334 A4, 19983TFIC °

(Z)BEHEE ROV NEFBEE WA R TRK108 N899 1 T-7T
=~ i TR N B4 ) REE S SRFISN B A& ES, 237TE T 0 i

(—)RBARATEA S LB i R FHaT B2 0E A 751 A2,897& 7T -

(R AR B ESER T/ A SEHEE > i EH TEAB2 AL 1798 TTIT -

(Z)VERFEEABNAZIHE ~ FEIES - SRR NREF2, 14587TT T -

(PO NP EE Pl B 4 N 39E 3 T-7T ~ AMNEHEEREEE 45 NT8E T ~ N EIE/EEN A 1E 2T »

(FOBHAERTERARIRE A - HEGz st A 8 - TEsHERFEEEESTA ~ SEEEHE217 A K EEE 406 A
WWYIFHE ~ RS - BEEE NS ESETS, 1998 5T ° \

(B E B RER B LR R TAERTE MBS T HERE A I EME S S A NIFEEBIEIIAN » FHYIFHE
ARG AR RSB S H 37458 T o (& 2Rl & K66 6T 7T) ©

(OEFEEEAZHmHINTIEANB20AN ZFE ~ TS - S RE RS REHFL, 0208 71T -

() BB BT SRR Z B~ HedzdstMEAN 8 > TERT8YE B BT A - SR(TEIHER2 A K i&lE
T234 N5 > RYIFE ~ TS - BERE N BEEER 45TE3TIT -

(LR HEEH B PIRRR T8& - &Y 30 A - 5+H4388F T -

()B4 TR e B ey S HIE Rt HAEEHE - (BRI H - HedatstMiEA 8 » TEHERYHE A B8 A KEE
B TI0AZ#E ~ R8RS - SERE NS RESET4TIE2TIT -

(Tt ML EMEIEHE A TIE A B4 AR 19N Z57E ~ &G - SERE LS ESFE2I0E3TIT

(LM SR  FEREORA R R AR - R - SRR
550854 T T -

P T SMUEE ) SRR I TR 26 A 47284 T T - A -

(=) AR A A R = 2 R E B TR R 1T A 16188 T T -

(=) Ae & B T R BRI TR I 10 L 18TH T -

(=) BEBRARSS Y PRt - i A EI T S TR T T A 248 7 -

() =4 PSR B e T3 T2\ 0986 T ©



B =BT

illi=1 i) ] =
JFIME i F 7
g ek 7 R ey E— =) o 2| HEAB 2
m] e A = E%i' ﬁ%ﬁ%{%\‘ 1@%% %ﬁ§$§ H TE?)?‘&% = n+ TS I:l_l‘
DE\_TTZ: 2L T P AN 'ﬁt
e & | % & | M &
35,717 50 0 12,911 24 498,438 44,99 543,436
27,916 50 0 8,781 385,819 44,74 430,567
27,916 50 0 8,781 385,819 385,819
0 0] 0 0 334 334
27,916 50) 0 8,781 385,489 385,485
0 0] 0 0 0
0 0] 0 0 44,74 44,748
0 0] 0 0 44,74 44,748
7,801 0] 0 4,130 24 112,453 25 112,703
7,801 0] 0 4,130 24 112,453 112,453
5,985 0] 0 3,045 87,818 87,818
1,816 0] 0 1,085 24 24,639 24,635
0 0 0) 0) 25 250
0 0] 0 0 25 250
0 0] 0 0 166 166
0 0] 0 0 164 166
0 0] 0 0 164 166
35,717 50 0 12,911 24 498,438 44,99 543,436
35,717 50 0 12,911 24 498,438 44,99 543,436




